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HSSC Haryana Police Maha Mock | 17th October 2019 
 

Q1. Which of the following governor generals used to call himself as Bengal Tiger? 

(a) Lord Canning 

(b) Warren Hastings 

(c) Lord Cornwallis 

(d) Lord Wellesley 

 

Q2. When was the Arya Samaj divided on principles? 

(a) 1893  

(b) 1895 

(c) 1903 

(d) 1913 

 

Q3. The Working Committee of National Congress sanctioned the resolution named 'Quit India' at - 

(a) Wardha 

(b) Nagpur 

(c) Mumbai 

(d) Delhi 

 

Q4. Who gave the title 'Nightingale of India' to Sarojini Naidu? 

(a) Jawaharlal Nehru 

(b) Bhagat Singh 

(c) Rajendra Prasad  

(d) Mahatma Gandhi 

 

Q5. When was Guru Nanak Dev born? 

(a) 1449 A D 

(b) 1453 AD 

(c) 1469 AD 

(d) 1499 AD 

 

Q6. Who the following told, "Hunuz Dilli dur ast" (Delhi is still far away)? 

(a) Amir Khusrow 
(b) Nizamuddin Auliya 

(c) Yahya Sirhindi 

(d) Moinuddin Chisti 

 

Q7. Harshavardhan's Vallabhi conquest is found in which of the 

following inscriptions? 

(a) Aihole Pillar Inscription 

(b) Junagadh Inscription 

(c) Navsari Copper plate Inscription 

(d) Damodarpur copper plate Inscription 

 

https://store.adda247.com/comprehensive-video/3186/Delhi-Police-Head-Constable-2019-Video-Course


2 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

Q8. Which of the following are the smaller planets than the size of the Earth? 

(a) Uranus and Mars 

(b) Neptune and Venus 

(c) Venus and Mars 

(d) Neptune and Mars 

 

Q9. Which of the following countries border touches with China? 

(a) Uzbekistan 

(b) Nepal 

(c) Philippines 

(d) South Korea 

 

Q10. What is called the line that combines the places of same amount of rainfall? 

(a) Isobath 

(b) Isohyet 

(c) Isoryme  

(d) Isoneph 

 

Q11. Thunder Cloud happens in which layer of the atmosphere? 

(a) Ionosphere 

(b) zonosphere 

(c) Troposphere 

(d) Stratosphere 

 

Q12. "Titan" is satellite of? 

(a) Saturn 

(b) Venus 

(c) Earth 

(d) Mercury 

 

Q13. Kharif crops are sown  

(a) A the beginning of the South-West monsoon  

(b) At the end of the South West monsoon  

(c) At the beginning of the North-East monsoon  

(d) At the end of North-East monsoon 

 

Q14. Which part of Indian Constitution deals with Elections? 

(a) Part XII 

(b) Part XIII 

(c) Part XIV 

(d) Part XV 

 



3 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

Q15. What are the minimum qualifications of a person to become a member of Lok Sabha? 

I. Must be a citizen of India. 

II. Must not be less than 25 years of age. 

III. Must hold an office of profit under Union Government. 

(a) Only I and II 

(b) Only II  

(c) Both I and III 

(d) I, II and III 

 

Q16. Along with ‘Right to Life’ in Article 21 of Indian Constitution, it also includes ______. 

(a) Right to Health 

(b) Right to Food  

(c) Right to Water  

(d) All options are correct. 

 

Q17. Which Part of Indian Constitution deals with Centre-State financial relations? 

(a) Part X  

(b) Part VIII 

(c) Part XII 

(d) Part XX 

 

Q18. Who’s salary is charged on the consolidate fund of India? 

I. Chairman of UPSC 

II. President of India  

III. Judges of Supreme Court 

(a) Only I  

(b) Both II and III  

(c) Both I and II 

(d) All I, II and III 

 

Q19. Who said ‘As President, I have no eyes but constitutional eyes. I cannot see you’— 

(a) Dr. Rajendra Prasad 

(b) Dr. Radhakrishnan 

(c) Abraham Lincoln 

(d) Mahatma Gandhi 

 

Q20. Which Five Year Plan was a failure due to India-China war followed by Indo-Pakistan? 

(a) Fourth Five Year Plan 

(b) Seventh Five Year Plan 

(c) Third Five Year Plan 

(d) Rolling Plan 
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Q21. Generally unemployment in a developing country takes place because of ___________. 

(a) Lack of complementary factors of production 

(b) Seasonal factors  

(c) Lack of effective demand 

(d) Switch over from one job to another 

 

Q22. What is "NIKKEI"? 

(a) Share Price Index of Tokyo Share Market 

(b) Name of Japanese Central Bank  

(c) Japanese name of country’s Planning Commission 

(d) Foreign Exchange Market of Japan 

 

Q23. Which of the following is a characteristic of pure monopoly? 

(a) one seller of the product 

(b) low barriers to entry 

(c) close substitute products 

(d) perfect information 

 

Q24. “Functional Finance” is associated with: _____________. 

(a) Adams 

(b) Adam Smith 

(c) Adolph Wogner 

(d) Abba P Lerner 

 

Q25. Which of the following should always be balanced in the foreign trade of India? 

(a) Balance of Trade 

(b) Balance of Payment 

(c) Balance of Current Account 

(d) No option is correct. 

 

Q26. The relative density of a substance is the _________________________. 

(a) ratio of its density to the density of water 

(b) ratio of the density of water to its density  

(c) product of the density of water to its density 

(d) ratio of the volume of water to its volume 

 

Q27. Find the acceleration (in m/s²) of a body which accelerates 

from 15 m/s to 40 m/s in 2 seconds. 

(a) 12.5  

(b) 27.5  

(c) 25  

(d) 55  
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Q28. The gravitational force of attraction between two bodies is ____________________ the distance 

between the two bodies. 

(a) Inversely proportional to the 

(b) Directly proportional to the square of 

(c) Inversely proportional to the square of 

(d) Directly proportional to the 

 

Q29. In a __________________ wave particles of the medium vibrate in a direction parallel to the direction 

of wave propagation.  

(a) Transverse 

(b) Longitudinal 

(c) Surface 

(d) Field 

 

Q30. Which of the following causes acid rain? 

I. SO2  

II. NO2  

III. CO2  

(a) Only I and II 

(b) Only II and III 

(c) Only I and III 

(d) All I, II and III 

 

Q31. Which of the following fuel has maximum calorific value? 

(a) Petrol  

(b) Coal  

(c) Wood  

(d) Cow dung 

 

Q32. If an atom has atomic number 10 and mass number 23, then what will be the number of 

protons and neutrons in an atom respectively? 

(a) 10, 10  

(b) 10, 23  

(c) 13, 10  

(d) 10, 13 

 

Q33. Some amount of plasma, proteins and blood cells escape through the pores present in the walls 

of capillaries into the intercellular spaces in the tissue and form ______. 

(a) Heparin 

(b) Lymph 

(c) Platelet 

(d) Protein 
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Q34. Which of the following is NOT a feature found in almost every cell? 

(a) Cell wall 

(b) Plasma membrane 

(c) Nucleus  

(d) Cytoplasm 

 

Q35. In which of the following part of Neuron the information is transmitted in the chemical form? 

(a) Dendrite 

(b) Cell body 

(c) Axon  

(d) No option is correct 

 

Q36. Which among the following districts of Haryana has the lowest percentage of area under forest 

cover? 

(a) Fatehabad  

(b) Sonipat 

(c) Sirsa 

(d) Hisar 

 

Q37. Which of the following commercial crops rank first in production in Haryana? 

(a) Cotton 

(b) Oilseeds 

(c) Sunflower 

(d) Sugarcane 

 

Q38. The Kalesar National Park of Haryana is famous for which among the following Fauna?  

(a) Tigers  

(b) Birds  

(c) Monkeys 

(d) Rusty Spotted Cat 

 

Q39. Panchkula is famous for  

(a) Watches 

(b) Utensils 

(c) Electronics 

(d) Sun glasses 

 

Q40. Who is the current Chief Minister of state of Haryana? 

(a) Manohar Lal Khattar 

(b) P L Bhatti 

(c) Bhajan Lal 

(d) Bhupinder Singh Hooda 
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Q41. Which of the following crops covers maximum area in Haryana? 

(a) Rice  

(b) Wheat 

(c) Cotton 

(d) Pulses 

 

Q42. Who is the architect of Pinjore Gardens?  

(a) Aurangzeb 

(b) Jahangir 

(c) Nawab Fadai Khan 

(d) Shah Jahan 

 

Q43. Satsang Sahib Gurudwara is located in which district of Haryana?  

(a) Panipat 

(b) Panchkula 

(c) Ambala 

(d) Rewari 

 

Q44. In which year the state of Haryana came into existence?  

(a) 1st Oct, 1956 

(b) 1st Nov, 1966 

(c) 1st Nov, 1999 

(d) 1st Oct, 1999 

 

Q45. Which of the following districts of Haryana is famous as ‘Little Cuba’ in India, due to large 

number of boxers here?  

(a) Rohtak 

(b) Bhiwani 

(c) Sonipat 

(d) Jind 

 

Q46. Hisar-e-Firoza was constructed by which Muslim rule?  

(a) Fateh Khan 

(b) Firoz Shah Tughlaq  

(c) Muhammad bin Tughlaq  

(d) Jahangir 

 

Q47. Which of the following parts is correctly matched?  

(a) National Brain Research Centre : Hisar  

(b) National Dairy Research Institute : Manesar  

(c) YMCA University : Faridabad  

(d) Lingaya’s University : Hisar 
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Q48. Bhim Award carries the cash prize of  
(a) Rs. 2 lakh 
(b) Rs. 3 lakh 
(c) Rs. 4 lakh 
(d) Rs. 5 lakh 
 
Q49. Mughal style of painting is famous in the temples located in the district of  
(a) Kurukshetra  
(b) Pinjore 
(c) Rohtak 
(d) Sirsa 
 
Q50. Which of the following dance forms is performed only by males? 
(a) Ratvai 
(b) Gugga 
(c) Saang 
(d) Loor 
 
Directions (51-52): In the following question, select the related letters/number from the given 
alternatives. 
 
Q51. BGMR : DIOT : : SNOV : ? 
(a) UPXQ 
(b) QPUX 
(c) UMPW 
(d) UPQX 
 
Q52. 12 : 156 : : 14 : ? 
(a) 195 
(b) 205 
(c) 208 
(d) 210  
 
Q53. In the following question, select the odd letters from the given alternatives. 
(a) ADG 
(b) CFI 
(c) JMQ 
(d) SVY  
 
Q54. A series is given with one term missing. Select the correct alternative from the given ones that 
will complete the series. 
AD, CE, EF, GG, ? 
(a) II 
(b) IH 
(c) HI 
(d) IJ  
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Q55. In the following question, select the missing number from the given series. 

7, 10, 14, 19, 25, ? 

(a) 32 

(b) 36 

(c) 38 

(d) 40  

 

 

Q56. If "÷" denotes "subtracted from", "+" denotes "multiplied by", "–" denotes "added to" and "×" 

denotes "divided by", then 

19 + 2 ÷ 2 + 2 – 14 = ? 

(a) 52 

(b) 46 

(c) 48 

(d) 88  

 

Q57. If "#" denotes "multiplied by", "@" denotes "subtracted from", "*" denotes "added to" and "%" 

denotes "divided by", then which of the following equation must be true? 

(a) 4 % 2 # 6 * 7 = 18 

(b) 3 # 9 @ 4 # 6 = 4 

(c) 5 # 6 % 3 @ 4 = 8 

(d) 14 % 2 * 3 # 8 = 31  

 

Q58. If 11 # 2 @ 6 = 78 and 15 # 4 @ 8 = 152, then 17 # 6 @ 7 = ? 

(a) 161 

(b) 143 

(c) 221 

(d) 157  

 

Q59. If 2 = 0, 5 = 1 and 8 = 4, then 11 = ? 

(a) 8 

(b) 9 

(c) 10 

(d) 6  

 

Directions (60-60): In each of the following question below are given some statements followed by 

some conclusions. Taking the given statements to be true even if they seem to be at variance from 

commonly known facts, read all the conclusions and then decide which of the given conclusion 

logically follows the given statements. 

 

Q60. Statements:  

I. Some pens are pencils. 

II. All pencils are erasers. 

III. Some erasers are cups. 
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Conclusions:  
I. Some pens are cups. 
II. Some pencils are cups. 
III. Some cups are pencils. 
IV. Some erasers are pens. 
(a) Only conclusion (II) follows  
(b) Only conclusion (IV) follows 
(c) Only conclusion (I) follows  
(d) No conclusion follows  
 
Q61. If A : B = 5 : 2 and B : C = 7 : 5, then Find A : C = ? 
(a) 2 : 7 
(b) 7 : 2 
(c) 4 : 3 
(d) 3 : 4  
 
Q62. Find the average of the given numbers 

 
(a) 5

3

16
 

(b) 4
3

16
 

(c) 6
3

16
 

(d) 2
3

16
  

 
Q63. Find the sum of all integers between 200 and 400 divisible by 9. 
(a) 6360 
(b) 6643 
(c) 6633 
(d) 6540  
 
Q64. A train running at 36 km/hr takes 10 seconds to pass a telegraph pole. How long would it take 
to cross a platform 110 m long? 
(a) 18 sec 
(b) 20 sec 
(c) 22 sec 
(d) 21 sec  
 
Q65.  

  
(a) 7/5 
(b) 7/4 
(c) 1 
(d) 2  
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Q66.  

 

(a)   

(b)  

(c)   

(d) All are equal  

 

Q67. If 46N is divisible by 18, then what is the value of N? 

(a) 2  

(b) 4  

(c) 7  

(d) 8  

 

Q68. An amount was lent for one year at the rate of 10% per annum compounding annually had the 

compounding been done half yearly, the interest would have increased by 80. What was the amount 

(in Rs) lent? 

(a) 16000  

(b) 32000  

(c) 48000  

(d) 64000  

 

Q69. The ratio of curved surface area of two cones is 1 : 9 and the ratio of slant height of the two 

cones is 3 : 1. What is the ratio of the radius of the two cones? 

(a) 1 : 3  

(b) 1 : 9 

(c) 1 : 27  

(d) 1 : 1  

 

Q70. A cylindrical well of height 40 metres and radius 7 metres is dug in a field 56 metres long and 

11 metres wide. The earth taken out is spread evenly on the field. What is the increase in the level 

of the field? 

(a) 12.5  

(b) 10.66 

(c) 11.5  

(d) 13.33 

 

Q71.  

(a) 0  

(b) 1 

(c) 3  

(d) 9 
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Q72.  

(a) 178√3  

(b) 789√2  

(c) 1581√2  

(d) 717√2  

 

Q73. In ΔABC, ∠C = 54°, the perpendicular bisector of AB at D meets BC at E. If ∠EAC = 42°, then what is the 

value (in degrees) of ∠ABC? 

(a) 25  

(b) 42  

(c) 50  

(d) 60  

 

Q74.  

 

(a)   

(b)  

(c)   

(d) cos A 

 

Q75.  

  
(a) 45°  

(b) 90° 

(c) 100°  

(d) 120° 

 

Q76. Which among the following key combination can be used to search in Windows Explorer? 

(a) Ctrl+F 

(b) Ctrl+S 

(c) Ctrl+G 

(d) Alt+S 

 

Q77. Which of the following groups consist of only input devices? 

(a) Mouse, Keyboard, Monitor 

(b) Mouse, Keyboard, Scanner 

(c) Mouse, Keyboard, Printer 

(d) Mouse, Keyboard, Loudspeaker 
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Q78. What is a named area on a disk that is used to store related subfolders and files called? 

(a) desktop 

(b) folder 

(c) menu 

(d) Safari 

 

Q79. WORM stands for? 

(a) Write Once Read Many  

(b) Wanted Once Read Memory 

(c) Wanted Original Read Memory 

(d) Write Original Read Memory 

 

Q80. Which PowerPoint view displays each slide of the presentation as a thumbnail and is useful for 

rearranging slides? 

(a) Slide Sorter 

(b) Slide Show 

(c) Slide Master 

(d) Notes Page 

 

Q81. Pressing Windows logo key + E will open which of the following? 

(a) My Computer 

(b) My document 

(c) Recycle Bin 

(d) Control Panel 

 

Q82. Which among the following is a language directly understood by CPU?  

(a) Machine  

(b) C 

(c) C++ 

(d) Java 

 

Q83. What is the technology used to read pencil or pen marks on a multiple-choice answer sheet called? 

(a) OMR 

(b) MICR 

(c) OCR 

(d) CPU 

 

Q84. Which of the following is an expansion card which generates a feed 

of output images to a display? 

(a) Bus 

(b) Motherboard 

(c) Play Station 

(d) Video Card 
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Q85. Using output devices one can ____. 

(a) View or Print Data 

(b) Modify Data 

(c) Store Data 

(d) Replicate Data 

 

Directions (86-89): In the following question, the sentence given with blank to be filled in with an 

appropriate word. Select the correct alternative out of the four and indicate it by selecting the appropriate 

option. 

 

Q86. He ………. me for the last few months that he is leaving India very soon. 

(a) told  

(b) has told  

(c) has been telling  

(d) has been told  

 

Q87. He was allowed to sleep ……… he had finished his homework.  

(a) only  

(b) till  

(c) while  

(d) after 

 

Q88. The mounting pressure was so overwhelming that he ultimately ………… to her wish.  

(a) agreed in  

(b) cowed in  

(c) gave in  

(d) yielded in  

 

Q89. Only the brave deserves the …………… 

(a) fare  

(b) flare  

(c) flair  

(d) fair 

 

Directions (90-90): In these questions, out of the four alternatives, choose the one which best expresses the 

MEANING of the word given in BOLD. 

 

Q90. TYRANNY 

(a)Misrule  

(b) Power  

(c) Madness  

(d) Cruelty  
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Directions (91-91): In these questions, out of the four alternatives choose the word OPPOSITE in meaning to 

the word given in BOLD. 

 

Q91. NOSTALGIA 

(a) Memorise  

(b) Remembrance  

(c) Past  

(d)Absent-mindedness 

 

Q92. Select the correct option for the underlined word in the following sentence. 

They trusted him as he is their son. 

(a)indefinite pronoun 

(b) conjunction  

(c)reciprocal pronoun 

(d) common noun 

 

Q93. Select the correct option for the underlined word in the following sentence. 

The tea is  hot  

(a) adjective 

(b) noun 

(c) pronoun 

(d) adverb  

 

Q94. “पीपर पात सररस मन डोला” प्रस्ततु पकं्तियों में कौन सा अलकंार ह?ै  

(a) लाटानुप्रास  

(b) उपमा  

(c) शे्लष  

(d) वक्रोक्ति  

 

Q95. क्तनम्नक्तलक्तित में स ेकौन ‘नदी का पयाायवाची शब्द नहीं ह?ै  

(a) सररता  

(b) तटनी  

(c) अपगा  

(d) वारर  

 

Q96. वतानी की दकृ्ति स ेशदु्ध शब्द का चयन कीक्तिए।  

(a) कक्तवत्री  

(b) कक्तवयत्री  

(c) कवयीत्री  

(d) कवक्तयत्री  
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Q97. क्तनम्नक्तलक्तित में स ेअशदु्ध वाक्य ह-ै  

(a) बाहर से ककसकी आवाि आ रही ह ै 

(b) तुम्हीं ने ही मेरी क्तशकायत की ह ै

(c) सत्यभाषण हर एक के बतूे की बात नहीं  

(d) मैं िो कहता हूँ वही करता हूँ  

 

Q98. ‘वनवास’ शब्द में कौन-सा समास ह?ै  

(a) तत्पुरुष  

(b) कमाधारय  

(c) द्वदं्व  

(d) बहुव्रीक्तह  

 

Q99. क्तनम्नक्तलक्तित में स ेककस क्तवकल्प के सभी शब्द सजं्ञा स ेबन ेहुए क्तवशषेण नहीं ह?ै  

(a) क्तवषैला, कंकरीला  

(b) ध्यानपूवाक, क्तबलकुल  

(c) पठनीय, िलमय  

(d) फलदायक, आरामदायक  

 

Q100. क्तनम्नक्तलक्तित में स ेकौन तत्सम शब्द नहीं ह?ै  

(a) काया  

(b) मागा  

(c) हाथ  

(d) सूया  
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